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B EELE REE REEE REHH BREE
BMBE | SM24F | K | RHSE | HF24F | BB | HH3EF | S22 | W | SHSF | SW2F | M | RHSE | HF24E | BB | HHIEF | 24 | R

B T # % 104 103 1 106 107 -1 101.9 103.9 -2.0 631 479 152 430 445 -15 68.1 92.9 -24.8
[T 39 51 -12 41 51 -10 105.1 100.0 5.1 246 191 55 165 153 12 67.1 80.1 -13.0

554t K 17 31 -14 19 31 -12 118 100.0 1.8 108 92 16 74 88 -14 68.5 957 | 272

55 K 9 11 -2 9 11 -2 100.0 100.0 32 32 26 21 5 81.3 65.6 15.7

SHERK 5 5 5 5 100.0 100.0 38 25 13 28 21 7 73.7 84.0 -10.3

55 FK 8 4 4 8 4 4 100.0 100.0 68 42 26 37 23 14 54.4 54.8 -0.4
2 K W 34 22 12 34 22 12 100.0 100.0 156 164 -8 95 163 -68 60.9 994 | -385
2o W 13 6 7 12 6 6 92.3 100.0 -7.7 44 29 15 32 19 13 72.7 65.5 7.2
F % W 2 2 2 4 -2 1000 | 2000 | -100.0 4 10 31 34 3 31 82.9 300 52.9
¥ B W 5 -5 5 -5 -| 1000 | -1000 13 5 8 8 10 -2 61.5| 2000 | -1385
¥ R W 1 -1 - 8 7 1 3 12 -9 375 1714 | -1339
W W 1 5 -4 1 5 -4 100.0 100.0 21 17 4 7 16 -9 333 94.1 -60.8
m R W 4 -4 1 6 -5 -| 1500 | -150.0 3 4 -1 1 1 33.3 33.3
H R W 1 1 1 1 100.0 -| 1000 4 4 1 7 -6 250 - 250
& A1 W 1 1 1 1 100.0 100.0 5 3 2 3 8 -5 60.0 266.7 | -206.7
BE R W 2 1 1 2 1 1 100.0 100.0 12 2 10 21 6 15 1750 | 3000 | -125.0
KB W 1 -1 1 -1 -| 1000 | -100.0 16 12 4 12 10 2 75.0 83.3 -8.3
2 E W 3 1 2 3 1 2 100.0 100.0 11 8 3 3 6 -3 273 750 | -477
E RG] 1 -1 - - 14 3 11 11 6 5 78.6 2000 | -121.4
EE 1 1 1 1 100.0 100.0 8 7 1 8 4 4 100.0 57.1 429
#05 R #0 5RT 2 1 1 2 1 1 100.0 100.0 7 4 3 7 6 1 100.0 150.0 -50.0
HENR SR - - 4 3 1 1 2 -1 25.0 66.7 -41.7
% O R 2 E AT 1 1 1 1 100.0 -| 1000 3 1 2 2 -2 2000 | -200.0
/N BB 4K BT - - 4 1 3 5 2 3 125.0 200.0 -75.0
EERMHER - - - -
= M R i BT T 1 -1 1 -1 -| 1000 | -1000 3 3 2 2 66.7 66.7
R% BB R A% S T 1 1 1 1 100.0 -| 1000 1 1 2 1 1 200.0 100.0 100.0
B B AR SR KA - - 1 -1 1 1 -
ZEEBEEAH _ - - =
KRR KT - - 1 E - -
A K ER X B HT 1 1 1 1 100.0 -| 1000 1 3 -2 2 6 -4 | 2000 2000
LB fich ST - - 3 3 3 1 2 100.0 -| 1000
BIEIREED 2 2 2 2 100.0 -| 1000 3 3 3 1 2 100.0 -| 1000




